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In [1]: import pandas as pd
import math
from pandas import Series, DataFrame
%pylab inline
plt.rc('figure', figsize=(12, 8))
1=5
D=20
Ak=[1%%2/3.0]
for i in range(D-1):
Ak . append ((-1)** (i+1)*(2+1/(i+1.0)/math.pi) **2)
print Ak

Populating the interactive namespace from numpy and matplotlib
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In [2]: ak1=[8.33281219 ,-10.318981, 2.27375948,-1.28375446, 0.6257736,-0.53357938, 0.59340663,-0.
ak2=[-3.54610586e+00,-9.98962044e+00 ,2.71518383e+00,-1.17027024e+00, 5.93715316e-01,-3.69
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ak12=[ 8.29574732e+00,-1.04340274e+01, 2.43998920e+00,-8.19756871e-01, 4.50149664e-01,-5.0
df=DataFrame({'ak':Ak, 'akl':akl,'ak2':ak2, 'ak12':ak12})

df .columns.name='different fitting'

df .index.name='dimension'

df .plot(kind='bar',stacked=False,colormap="'jet',alpha=0.9,title='Parameter Value of differ
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In [3]: b=df[['aki2','akl', 'ak2']]
c=df['ak"']
d=b.rsub(c,axis=0)
e=d.div(c,axis=0)*100
e.plot(kind='bar',stacked=False,colormap="'jet',alpha=0.9,title='Error percentage');



1 REFHF R 4

Error percentage
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fitting of y=x"2's fourier
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fitting of First order differential with y=x"2 's fourier
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fitting of y=x"2's fourier
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fitting of y=x(x-1)(x+1) 's fourier
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550 fitting of First order differential with y=x(x-1)(x+1) 's fourier
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fitting of y=x(x-1)(x+1) 's fourier
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fitting of y=x(x-1)(x+1) 's fourier
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0.0 fitting of y=x(x-1)(x+1) 's fourier with integral
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fitting of y=x(x-1)(x+1) 's fourier with integral
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